MODELS SHORT LONG MODELS FLUSH REV/ DATE DESCRIPTION
CLOPAY 02| 10/21/08 |ADDED PUSHNUTS
R L GD2SP, GRESP | GD2LP, GRELP CLOPAY CLASSIC 4302 THIS PRODUCT COMPLIES WITH THE 2018 IBC/IRC. o] 2710712 TorDATED WINDGODE CrAeT
AgnTEISITtng ARZSP ARZLP HOLMES CLASSIC 6202 04| 03/04/13 |REVISED FOR APPROVAL
THEAL 05| 05/0B/14 |REVISED FOR APPROVAL.
Eoee e ED2SP ED2LP IDEAL CLASSIC SFCe8 06| 08/2016 |REMOVED WIND SPEED TABLE.
07| 11/23/20 |UPDATED TNLE BLOCK AND ADDED COMPLIANCE STATEMENT.

OPTIONAL GLAZING IS IMPACT RESISTANT GLAZING. (4) #14 SHEET METAL SCREWS

SEE SECTION B—B FOR DETAILS.
/ (SHORT LITES SHOWN, LONG LITES ALSO AVAIL.)

HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER (TO SU) ‘\

‘3

LHR TOP BRACKET
DOUBLE HORIZONTAL
TRACK

(GLAZING NOT TO EXCEED 38-1/2" WIDE X 13" TALL)

I A a] R
: 13 GA. GALV. STEEL FLAG BRACKET.
DOUBLE TRACK EACH FASTENED TO WOOD JAMB WITH
1 + Ll L s | (4) 1/4" DIA, SELF TAPPING SCREWS L
=il L L i~ SEE END HINGE (3) 5/16"x1-5/8" WOOD LAG SCREW..
(SRR IS [ IES o -
s | T e NOTE: FOR DOORS OVER 12'—0” (6'—6" | 707
END i HIGH, TRACK CONFIGURATION SHALL 70" 176
N e e e e T NOT EXCEED MAXIMUM SPACING g 8"
g% |J'1'-—-—'1"| |'§'---—ﬂ| (=== === || see NTErMED. HINGE ML 2 PROVIDED. CONSULT FACTORY FOR B0 be"
S .l I Wl ot ] DETAIL. s MORE DETAILS IF RQD. AR
2w ) — ) ) S e () 0.1 94,
e fesssaas o R ] SLIDE BOLT » H: 0" [100
oo oy T T T FrE— END LOCK ENGAGES 8 §'—6" (106"
g E OUTSIDE STILE m\% KVEZREAL 3 2* GALV. STEEL TRACK =0 112"
_______________ s N = H S [‘_l'_. _' 1 E"
g3 IF====m] [F====m, [F====1, |KF===, HANDLE LocKk oN el TRACK THICKNESS: .060 S,
g3 :: H I} loy ! HEH i EACH SIDE £ L
<] PERSORP Y (1 S| s S—— || NP | OF DOOR. (< O [T36"
2x || B Mesmet e A (e TWO POINT LOCKING AR n £=0 [0
> 8 : INTO TRACK TRACK ON  INSIDE SLIDE BOLT -
8 x [TT el Tee e e s OUTSIDE KEYED LOCK EACH SIDE  LOCK 4 TYP. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET.
8 g IF==—= === |F=—=== (§~——=1 LOCK BAR LOCKING OF DOOR. & (4) TRACK BRACKET PER SIDE. DISTANCE BETWEEN
i i il holy il i a TRACK BRACKETS NOT TO EXCEED 30" O.C.
) (| —— | || ) S— ) — =
————— = Pyyyor s NOTE; TRACK CONFIGURATION
= ABOVE THE DOOR OPENING
- T SOUD DODRS (NO GLAZING OR DOOI\'S WITH Omm MPACT-RESISTANT GLAZING ARE 1
IMPACT-RESISTANT. 0 ACT RESISTANT ASSEMBLY CONS! JAMB CONFIGURATION H DOES NOT AFFECT THE WIND
OPTIONAL QUTSIDE KEYED ~ L A PRFclm FRAME AND GE LEXAN umo. AN APPROVED ccaL mmg‘ WITH SECTION C—C STOP MOULDING BY DOOR LOAD RATING OF THIS DOOR.
LOCK POSITION IEC/FBC 2608, LANCE > INSTALLER (TO SUM) ¥
MAX. DOOR WIDTH = 9'-0" TWIHNEDB‘L:AT)E RDE%?JTRBAENTSBLKF":SN{%W;‘UILDING Cvgll)‘é mlg Igzmgﬁyﬁg e 7 18 GA. GALV. STEEL END STILE TTTTTELLRTL,
INSIDE ELEVATION SMALL—WISSILE_IMPACT RESISTANT. (END STILES HELD BY HINGE SCREWS)
= = 2x6 YELLOW PINE JAMB =55 I }
12 GA. GALV. STEEL TRACK
BRACKET FASTENED TO WOOD
INSULATED DOOR SECTION. JAMB WITH ONE 5/16"x1-1/2"
SECTION A=A : WOOD LAG SCREW PER BRACKET.
—| |~ 2" THICK PECORATIE e 18 GA. GALV. STEEL INTER. HINGE FASTENED TO CENTER (};%legngFL_Rgrg Pgo\glgB
T 2" GALV. STEEL TRACK FASTENED g : ] ]
SILICONE FILLED CHANNEL SEPARATES -
RONT AND BACK SKIN OF DDOR %?2 &E‘S x 1/2 TO TRACK BRACKETS. EACH STILE W/(4) EACH #14x5/8" SHEET METAL SCREWS. / )\}
d BRACKET ATTACHED WITH ONE 7/15' ROUND PUSHNUT IS INSTALLED ON EACH ROLLER SHAFT. . \C .

27 GA. MIN. STEEL GALV. EXTERIOR SKIN
WITH BAKED—-ON PRIMER AND A
BAKED—ON POLYESTER PAINTED TOP COAT.

1/4"x5/8" BOLT & NUT OR TWO

14 GA GALV. STEEL END HINGE FASTENED TO END STILES W/(4) EACH
1/4" RIVETS. Ay

#14x5/8" SHEET METAL SCREWS & (4) 1/4° SELF TAPPING SCREWS.

175
/\1.95' THICK, 14 DENSITY

EXPANDED POLYSTYRENE
FOAM INSULATION LAMINATED
TO BOTH EXTERIOR AND
INTERIOR SKINS,

2" 10 BALL STEEL ROLLER
(1-3/16"x7/16"x4") WITH
STEEL OR NYLON TIRE.

(12) ia—_rgks x 1./2". //— FASTENER
TYPE

1/4° THICK POLYCARBONATE
GLAZING.

SNAP LATCH ENGAGES
ONTO VERTICAL TRACK.
ONE SNAP LATCH ON
EACH SIDE OF DOOR.

12 GA. GALV. STEEL TOP
ROLLER BRACKET. EACH
BRACKET ATTACHED W/(4)
#14x5/8" SHEET METAL
SCREWS.

0.C.

IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING PREPARATION OF JAMBS BY OTHERS,
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: .

1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6
/ 2x6 VERTICAL JAMB \

TONGUE AND GROOVE JOINTS.

SOUTHERN YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE

SUPPORTING STRUCTURE TO CREATE THE MOUNTING SURFACE. 3/8"3" LAG SCREWS ON 24" CENTERS. 1~1/8" O.D. WASHER REQUIRED. LAG SCREWS

MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.

14 GA. GALV. STEEL ROLLER
HINGE. EACH FASTENED TO

OUTSIDE KEYED END ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED DIRECTLY TO THE
e gl END STILES w/(3) 14x5/8 SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF SCREW HOLE HORIZONTAL JAMBS DO NOT TRANSFER LOAD. / I
1/4°3/4" SELF TAPPING ngEws MUST BE AT LEAST %' FROM BOTH EDGES FOR A 5/16" LAG SCREW. )
2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING : /a s SLEEVEANCHOR B e e (2 SR CONCREI'E) .
STRUCTURE (WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE
OUTSIDE KEYED LOCK WOOD BUCK OVER SHALL BE INSTALLED THE WALLBOARD FRAMING THE W EsahCLIOED Wi SLEETENCIRGS.
'SNAP_LATCH LOCK_OPTION OPENING USING THE JAMB ATTACHMENT FASTENERS LISTED BELOW. HOWEVER s 0 ) N.T.E. 1/2 MAX. O.C.
THE JAMB ATTACHMENT FASTENERS MUST BE OF A SUFFICIENT INCREASED ' 1/4"°x3" TAPCON SCREWS ON 19" CENTERS (2,000 PS| MIN. CONCRETE) OR 10 /

3" TALL x 20 GA. GALV. STEEL
U-BAR. ONE PER DOOR
SECTION, EXCEPT TWO ON
BOTTOM SECTION. ATTACHED
WITH (2) 1/4°x3/4" SELF
TAPPING SCREWS AT EACH
HINGE LOCATION.

CENTERS (C~90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS.
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

LENGTH TO ACCOUNT FOR THE THICKNESS OF THE WALLBOARD TO ENSURE
PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL FRAMING MEMBERS
OF THE SUPPORTING STRUCTURE.

OTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN
PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR

|—1/2* FROM EDGE

SECTION A=A <8 gy JAMB CONFIGURATIONS.
% ) Y
27 GA. MIN STEEL GALV. INTERIOR SKIN !
BAKED—ON FOLYESTER PANTED TP COAT = 3 ES!GN ENGINEER: MARK W. WESTERFIELD, P.E. DZsel R0 et O I e 280 o O
) ' LORIDA”P.E. 48495, NC P.E. #23832, TEXAS P.E. #91513 1EST LOADS: +57.0 P.S.F. & —66.0 P.S.F.
E- 13 GA. GALV. STEEL BOTTOM BRACKET. FANUF ACTURING PRODUCT VDOLDAD RATING | MAXTAM DOOR SIZE:
ATTACHED WITH (2) #14x5/8" SHEET METAL SCREWS. L “I CLOPAY CORPORATION DOIE-1Fag1 W6 DP38| 90"W X 16°0"H
wm LIopay) 5 2, LT
ALUMINUM EXTRUSION 0 DRAWN BY: GALLERY 2" EPS SC +38/—44 PSF
& VINYL WEATHERSTRIP. CORPORATION (513)770-4800 BFA TRAVING FOWBER: ViR
CHECKED BY! B 103954 DI




